INDEX OF DRAWING
DESCRIPTION
1 COVER PAGE, GENERAL NOTES, GLAZING DETAILS
& 2.1 | SINGLE & DOUBLE DOORS TYP. ELEVATIONS & CAPACITY
3 SINGLE & DOUBLE DOORS WITH TRANSOM, ELEVATIONS & CAPACITY CHART
& 4.1 |LOCK OPTIONS & LIMITATIONS
5 HORIZONTAL RAILS, HEAD/SILL DETAILS & TYPICAL ANCHORS
5
6
7
8
9

A ADA COMPLIANT THRESHOLD DETAILS
VERTICAL STILES, JAMB DETAILS
TRANSOM HEAD/SILL/JAMB DETAILS
PARTS DRAWINGS

BILL. OF MATERIALS & HINGE OPTIONS
10 CORNER CONSTRUCTION DETAILS

SERIES ENV-—-350
ALUMINUM INSWING ENTRANCE DOOR

DOORS NOT APPROVED FOR INSTALLATIONS WHERE WATER INFILTRATION
RESISTANCE IS REQUIRED.

THESE DOORS MAY BE USED IN CONJUNCTION WITH F.B.C.
APPROVED LARGE MISSILE IMPACT RESISTANT STOREFRONT SYSTEM.
LOWER DESIGN PRESSURE FROM DOOR OR STOREFRONT APPROVAL
WILL APPLY TO ENTIRE SYSTEM.

CODE REQUIREMENTS FOR SAFEGUARDS MUST BE OBSERVED.

THIS PRODUCT HAS BEEN DESIGNED AND TESTED TO COMPLY WITH THE
REQUIREMENTS OF THE 2014 (5TH EDITION)/2017 (6TH EDITION) FLORIDA
BUILDING CODE INCLUDING HIGH VELOCITY HURRICANE ZONE (HVHZ).

1BY OR 2BY WOOD BUCKS & BUCK FASTENERS BY OTHERS, MUST BE
DESIGNED AND INSTALLED ADEQUATELY TO TRANSFER APPLIED PRODUCT LOADS
TO THE BUILDING STRUCTURE.

ANCHORS SHALL BE CORROSION RESISTANT, SPACED AS SHOWN ON DETAILS
AND INSTALLED PER MANUF'S INSTRUCTIONS. SPECIFIED EMBEDMENT TO BASE
MATERIAL SHALL BE BEYOND WALL DRESSING OR STUCCO.

A LOAD DURATION INCREASE IS USED IN DESIGN OF ANCHORS INTO WOOD ONLY.
ALL SHIMS TO BE HIGH IMPACT, NON—METALLIC AND NON—-COMPRESSIBLE.

MATERIALS INCLUDING BUT NOT LIMITED TO STEEL/METAL SCREWS, THAT
COME INTO CONTACT WITH OTHER DISSIMILAR MATERIALS SHALL MEET THE
REQUIREMENTS OF THE 2014/2017 FLORIDA BLDG. CODE & ADOPTED STANDARDS.

THIS PRODUCT APPROVAL IS GENERIC AND DOES NOT PROVIDE INFORMATION
FOR A SITE SPECIFIC PROJECT, i.e. LIFE SAFETY OF THIS PRODUCT, ADEQUACY
OF STRUCTURE RECEIVING THIS PRODUCT AND SEALING AROUND OPENING FOR
WATER INFILTRATION RESISTANCE ETC.

CONDITIONS NOT SHOWN IN THIS DRAWING ARE TO BE ANALYZED SEPARATELY,
AND TO BE REVIEWED BY BUILDING OFFICIAL.

MANUFACTURER'S LABEL SHALL BE LOCATED ON A READILY VISIBLE LOCATION
IN ACCORDANCE WITH SECTION 1709.9.3 OF FLORIDA BUILDING CODE.
LABELING TO COMPLY WITH SECTION 1709.9.2.

INSTRUCTIONS:

USE DRAWING AS FOLLOWS.

SELECT SINGLE OR DOUBLE DOORS FROM SHEETS 2 & 2.1

—_

OR SINGLE OR DOUBLE DOORS WITH TRANSOM FROM SHEET 3.

SELECT DOOR AND FRAME SIZE.
DETERMINE Dp RATING FROM SHEET 2, 2.1 OR 3.
SELECT GLASS TYPE FROM SHEET 1.1.

SELECT LOCK OPTION AND CORRESPONDING
MAX. DESIGN LOAD FROM SHEET 4 & 4.1.

SELECT ANCHORING CONDITION AND CORRESPONDING
ANCHOR TYPE AND NUMBER OF ANCHORS FROM SHEET &.

SELECT JAMB OPTIONS FROM SHEET 6.
SELECT HINGE OPTION FROM SHEET 9.

DETERMINE FINAL DESIGN PRESSURE FOR THE SYSTEM,
TAKEN AS THE LOWEST OF ALL Dp VALUES OBTAINED.

©C®N O URUN

DOORS ARE RATED FOR LARGE & SMALL MISSILE IMPACT.
SHUTTERS ARE NOT REQUIRED.

A— CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND
INSTALLATION OF THIS PRODUCT BASED ON THIS PRODUCT EVALUATION
PROVIDED HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETAILED
ON THIS DOCUMENT.

B— THIS PRODUCT EVALUATION DOCUMENT WILL BE CONSIDERED INVALID IF
ALTERED BY ANY MEANS.

C— SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED
ENGINEER OR ARCHITECT WHICH WILL BECOME THE ENGINEER OF RECORD (E.O.R.)
FOR THE PROJECT AND WHO WILL BE RESPONSIBLE FOR THE PROPER
USE OF THE P.E.D. ENGINEER OF RECORD, ACTING AS A DELEGATED
ENGINEER TO THE P.E.D. ENGINEER SHALL SUBMIT TO THIS LATTER THE SITE
SPECIFIC DRAWINGS FOR REVIEW.

D-- THIS P.E.D. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF

THE PROFESSIONAL ENGINEER OF RECORD THAT PREPARED IT.

FL #20701
&ﬁ’\’\_\—lil—ﬁ i

RO, Ay,

o

AL-FAROOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT

9360 SUNSET DRIVE, SUITE 220
COMP—ANL\W17—43ENV |

(C.A.N. 3538)

FAX. (305) 262-6978

MIAMI, FLORIDA 33173
TEL. (305) 264-8100

C

ﬂ

FAX. (305) 406-3877

5100 N.W. 72 AVENUE BLDG. C

MIAMI, FL. 33166

ENVIRALUM INDUSTRIES INC.
TEL. (305) 752-4411

(SERIES ENV-350 INSWING ENTRANCE DOOR (L.M.I.)]

|

)

GLASS & LOCK OPTION ADDED

by [description

revisions:
no| date
A |07.06.17

|

04—-11-17
scale: 3/8" = 17

o
x
[
5
Fe)
L
el

Lchk‘ by:

da?&:

e ————
drawing no.

(W17-43
éheet 1 of1O

Sealed: 0772672017




5/8" MIN. TYP.

GLASS BITE

EXTERIOR

—1/4" HEAT STREN'D GLASS

.090” Interlayer
Trosifol PVB
By ‘kuraray America, Inc.’

.090” Interlayer
SentryGlas
By ‘Kuraray America, Inc.’

1/4" HEAT STREN'D GLASS

SILICONE
—DOW CORNING 791
GE 2000

5/8" MIN. TYP.
GLASS BITE

GLASS TYPE ‘A’

1/4" TEMP. GLASS
1/2" AR SPACE

1/4" HEAT STREN'D GLASS

.090" Interlayer

Trosifol PVB

By ‘kuraray America, Inc.’
OR

.090” Interlayer
SentryGlas

By ‘Kuraray America, Inc.’

1/4” HEAT STREN'D GLASS

SILICONE
DOW CORNING 791
GE 2000

5/8" MIN. TYP.
GLASS BITE

Ny

®

o
&

GLASS TYPE ‘A1’

EXTERIOR

GLAZING DETAILS DOOR
LEVEL ‘D’ IMPACT

5/8" MIN. TYP.
GLASS BITE

GLASS TYPE ‘A’

EXTERIOR

GLASS TYPE ‘A1’

GLAZING DETAILS TRANSOM

LEVEL ‘D’ IMPACT

1/2" AIR SPACE CONSISTING OF:

SPACER:

ALUMINUM BOX SPACER AROUND
THE PERIMETER OF THE GLASS.
PERIMETER SEALANT:

SILICONE

DOW CORNING 791

GE 2000

5/8" MIN. TYP.

GLASS BITE

EXTERIOR

1/4” HEAT STREN'D GLASS

.180" Interlayer
SentryGlas
By 'Kuraray America, Inc.’

1/4” HEAT STREN'D GLASS

SILICONE
DOW CORNING 995

MIN. TYP.

GLASS BITE

5

;}} Q

GLASS TYPE ‘B’

1/4" TEMP. GLASS

1/2" AR SPACE

1/4" HEAT STREN'D GLASS

.180" Interloyer

SentryGlas

By 'Kuraray America, Inc.’
1/4" HEAT STREN'D GLASS

SILICONE
DOW CORNING 995

GLASS BITE

&
~_ | ls78 Mn TP

EXTERIOR

GLASS TYPE ‘B1’

GLAZING DETAILS DOOR
LEVEL 'E’ IMPACT

5/8" MIN. TYP.
GLASS BITE

EXTERIOR

EXTERIOR

GLASS TYPE ‘B’ GLASS TYPE ‘Bi’

GLAZING DETAILS TRANSOM
LEVEL ‘E’ IMPACT

FL #20701 Z,QNAL S

(’a \‘
f
CJ

\

(C.A.N. 3538)
COMP—ANL\W17—43ENV |

FAX. (305) 2626978

AL-FAROOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT
9360 SUNSET DRIVE, SUITE 220

MIAMI, FLORIDA 33173

TEL. (305) 2648100

|

<

FAX. (305) 406-3877

SERIES ENV-350 INSWING ENTRANCE DOOR (L.M.l.)J

5100 N.W. 72 AVENUE BLDG. C

ENVIRALUM INDUSTRIES INC.
MIAMI, FL. 33166

TEL. (305) 752-4411 -

-

|

)

by [description

(no] date

N(revisions:

scale: 3/8° = 1*

chk. by:

drawing no.

W17-43
sheet1,1of10]




( (>]
" NO. OF ANCHORS .
51 1/27 MAX. ANCHOR |AT MTG. STILE ENDS - 99 1/2" MAX. - o hu ﬁ
FRAME WIDTH TYPES [1/4" SHIM[3/8" SHIM| —- FRAME WIDTH m <
A 6 8 S - Y L
B 6 8 ~ g
; ~ TYP. o Rz
3| ¢ | 5 6 ~ . g SEIZ
: : = |of : T AE
6" MAX. | 16" MAX. L |22 6" MAX. S =i 8T
HEAD HEAD/SILL S156 HEAD = 167 MAX. €F <5/
CORNERS @ < © . CORNERS @) S~ L HEAD/SILL Xo oS 8|5
r b o~ g~ alo
/ r Oaog ¢
S— LT | BRI, | 25N ;
== == E uw
Bl + i In Qbap
/ / \ OQ3ud
— " s He — / \ ’ A Q92h o
t / / \ ! Qacgd
l s | L / N Oz <
I / N i 229
:::::1|:17’:::1 / ::::\:ﬁl::::: g H‘:,))I.I._ o
T 1 I ~T 4 @ : i = Lz os@
A B © / A 2882
@ a @/ %la ~/ / TR %l LiGoEF
B o T ZE } d T T =3 ———
/ [l e / 1 AN S = )
e e / e s § e ] = [y
| % — ar —% | % =Ir ar S — = 5
T Zle =6 / I T ZE s 7 : I h = i
28 25 |8 N 6 =2F . & f 2 e x|l o @
=Y T £f° — AV, =Y = @ 2° — S . Sles 3
: 2T XN\ -K / N LT N[5 -IK : I Al ¢ ~
QIS v "5 ] At Ul . QIS vl “a -1 e Vv 4 w(lZ2a 9
& NS w T 1, —6 N8 w® / A) &} | B
a ~|a @ | . o ~|0 © N R | S -/ Zlpnn ~
- — || TFEEEE AFrsz==== |- - — |~ L] =E==== AFSZ==== - & || tu :
\ T N\ N~ / ElgY E
AN 1 \\ \ I 75\\ =
T N | T~ SURFACE APPLIED = \ I ™ SURFACE APPLIED 21550 .
N |__FALSE MUNTINS OR \ 1V ~|__FALSE MUNTINS OR AR
NI DECORATIVE GRILL \ 1V DECORATIVE GRILL 2|1Za5 ¥
— | 4 ____ -— MAY BE USED —t N | | Bo____ —— MAY BE USED Sl M~ SI
TR N /i eI
T i T T \ & T 23228
[l \ \ / 1 = os ©
" \ N\ / " Z2l=z2< ]
T N 1 il AN / T Wil n=Z F
\ \ | b _J
;  —
ACTIVE -+ ACTIVE YL INACTIVE )
/ AT | I i A 71 4 I I I /1/ M‘h\l L 1 Wl
/ |I<J>I | / [ (5| NERNERA I I
3" ~—_l_1- . .
HINGE OPTIONS _ — J“ " HINGE OPTIONS 38 7/8 2
SEE SHEET 9 B . A MAX. SEE SHEET 9 B D.L. OPG. Z o
38 7/8 SILL 3 L 22 -
D.L. OPG. CORNERS 4" MAX. d 47 7/8" >°s 2
" TR ANCHORS TYPE B o 8|
47 7/8 AT STILE ENDS LEAF WIDTH <+ =
LEAF WIDTH - CORNERS 3" 0.C. @
(3]
(5) FOR HT. UPTO 98~ o
X (6) FOR HT. ABOVE 98" XX B
Tyt —-g
( ) LEVEL D IMPACT ( ) GLASS D.L.O._DIMS " v
— = D.L.O. HEIGHT = DOOR FRAME HEIGHT — 14.9375 2lle
 DESIGN PRESSURE RATING (GLASS TYPES ‘A" & ‘Al) D.L.0. WIDTH (X DOORS) = FRAME WIDTH — 12.8125” 215
MAXIMUM DESIGN LOAD RATING = + 100.0 PSF D.L.O0. WIDTH (XX DOORS) = (FRAME WIDTH — 21.875%)/2 e
. e J
(FOR SIZES SHOWN ABOVE OR SMALLER) ~ 100.0 PSF —————
SEE SHEET 4 FOR LOCK OPTIONS AND LIMITATIONS. =7
(g
Ll e |l 2 a8
AR E:
NOTE: — =S
GLASS CAPACITIES ON THIS SHEET ARE drawing _no.
BASED ON ASTM E1300-09 (3 SEC. GUSTS) 1 43
AND FLORIDA BUILDING COMMISSION W17—
DECLARATORY STATEMENT DCAOS-DEC—219 Shect 2 o710




NO. OF ANCHORS

D.L.O. HEIGHT = DOOR FRAME HEIGHT — 14.9375"
D.L.O. WIDTH (X DOORS) = FRAME WIDTH — 12.8125”
D.L.O. WIDTH (XX DOORS) = (FRAME WIDTH - 21.875")/2

51 1/2" MAX. ANCHOR |AT MTG. STILE ENDS 99 1/2" MAX.
FRAME WIDTH TYPES [1/4~ SHIM[3/8~ SHIM| — FRAME WIDTH
A 5 7 eSS .
B 5 7 Tip
g &) C 4 5 . .
6" MAX. 16" MAX. 5, fz:% 6" MAX. \\\\
HEAD HEAD/SILL SI156 HEAD S 16" MAX.
CORNERS @) <« © CORNERS CA) N —— | HEAD/SILL
| | | | iy | |
1 1 = — i 1 i 1 1 1
| ; _ AT =
7 Pz N !_
. | / i 1 / N | 1
i 7 / AN It
i / N
= :::::II:Z/:::: == —— 1% &1 / ::::&ﬂ::::: [—
M 7 N
a % I
— VT -— . / @ | N\ -—
3 i Ozim > N
% @j | —é::::ﬁt:::Q > :::::::”:::::}
T Xle 2l 7 H B T Zfn E X 2l T . I N T X
e 3|5 e ))'/ =2 e =3 & Vs W =2
b 2 o (5 = ] g %o < 3 =
=t HlE 20 4K e B X R ¢ e % IR NE
t | ~o > —~ ’/{)’/ 2Ll ™~ > - // AV
[1e] e} ToyL™ I X [1¢] o 0| o . ]
o 8 0 5 m ::::::{l—[:::::: . 8 0 é g ‘s ::::::q/lk:::::: il
N B AN N A i N
N - N
A N (RIS il S e
AN H e SURFACE APPLIED N H / | SURFACE APPLIED
I, . |__FALSE MUNTINS OR \ S |_FALSE MUNTINS OR
e TN —~— DECORATIVE GRILL —t ~ Al | DECORATIVE GRILL
” AN MAY BE USED AN / ” MAY BE USED
1 AN AN / I
— \ T — \ / T
N\ N /
4 7
/ | ACTIVE - / | ACTIVE o NacTvE ]———i
1 3 il I i Sl iy 1 1
o L | | / [ éi l'\ll\fll,‘l |
3” \\\_ _+ " .
HINGE OPTIONS () Jﬂ— . HINGE OPTIONS 38 7/8 | v
SEE SHEET 9 B , ol | oA _MAX. SEE SHEET 9 B D.L. OPG. 2oy
38 7/8 SILL 3 5) ANCHORS AL
CORNERS . (5 ., hYES
D.L. OPG. 4" MAX. TYPE B 47 7/8 ("8
47 7/8" SILL AT STILE_ENDS (EAF WIDTH +
TR e CORNERS 3" 0.C.
(x) - (XX)
LEVEL E IMPACT
DESIGN PRESSURE RATING (GLASS TYPES ‘B’ & ‘B1’)
MAXIMUM DESIGN LOAD RATING =+ 100.0 PSF
(FOR SIZES SHOWN ABOVE OR SMALLER) — 100.0 PSF GLASS D.LO. DIMS.
SEE SHEET 4.1 FOR LOCK OPTIONS AND LIMITATIONS.
NOTE:

GLASS CAPACITIES ON THIS SHEET ARE
BASED ON ASTM E1300-09 (3 SEC. GUSTS)
AND FLORIDA BUILDING COMMISSION
DECLARATORY STATEMENT DCAO5-DEC-219

(C.A.N. 3538) { C
COMP—ANL\W17—43ENV]

FAX. (305) 2626978

AL-FAROOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT
9360 SUNSET DRIVE, SUITE 220

MIAMI, FLORIDA 33173

TEL. (305) 264-8100

i

|

-3877 I

FAX. (305) 406

5100 N.W. 72 AVENUE BLDG. C

MIAMI, FL. 33166
TEL. (305) 752-4411

ENVIRALUM INDUSTRIES INC.

| SERIES ENV-350 INSWING ENTRANCE DOOR (LM.L) |

|

)

byJdescriplion

(revisions:
(no] date

E

[
[=]
A
-
]
[
N
~
_.é
Q
[+
(2]

dr. by: TARIQ

e
drawing no.

W17-43

(sheet 2.10f 10 )

Sealed: 07/28/2017




(ANIEY—Z LM\INV—dIWOD N[ 2e8e-90% (cog) 'xv4  Livp—zsL (sog) AL |[|[ o
8L69-29T (GOE) "Xvd 00T8+9Z (SOE) 131 991%c 14 ‘INVIW 5
(8gse ‘N'VD) €LTEE VAIHOTA ‘INVIN 9 °9a19 INNIAY ZZ M'N 001G ORVL A9 p el
0ZZ 31INS ‘3AINA L1ISNNS 09E6 . - = .
INIWHOTIAIA 1ONAONHd @ SHIANIONI ONI_ SAILSNANI WNTVHIANS Tommssss i eins o A B
m NOILVYHOd 0D DOOHVY4-1V (1) ¥00Q JONVYINI ONIMSNI 0GE-ANI SIS — SUoISAs || Li—tE—¥0 :eyop =
\ ( 1siAad) P
_WM b dl'2]Lp)

1/47
SHIM
3
3
5
3

Sealed: 07/28/2017

NO. OF ANCHORS
AT TRANSOM ENDS

RS
Qul | |y -
CWABBC (e}
L =2
L -
a2
SHANYMOD
anyr . SEAVE _ k
SRS il :
S8 ¥ £ -
| | I I I | | [ _ | | _ _
I i 1 LN I 1 1 L] I | | I [ L] 1 —
= 11T 7= 1=
" N T
N
I /1 N !
h s ! N . T
— A . BN e e
=~ |2 et chemlin s = e Jo Yo vl e meffne s e ~[Q NIF
=318 s NN 1__/ Y old ol
a Al Il _ N Z mlg +I8
= i | | [ a
o] M / __ 11 __ __ N Q —
RS- | Il [ [ z
L / I i __ il N =1
Vs I _
M. T \ ' | // 1// 7~
-3 m N * fﬂ\ y X
. |F N % g— | 0 X
2 // T
N —t N T N
3 N i N/ @)
o |& AN . M N ~
AN E./ s 4
[ =T N / .
N / RS %
PR h d = TN
NN = : OW
(W (o N NN e 5 Fyb2¥
%] oo
T N / 1+ e <
E .
N L/ (@) &= %5
N / W2 8%
M [riy's}
AN / -
A — : %e
] 1 I P Y O I 1 1 I 1 I\ | NV
N w [ | NN [ | | [ /_/
%% @ R = PwJ &
=28= z.5
: [T _ ==z
@l o "9d0 1@ '9d0 1@ ¥ 8
1HOIEH AvA1 29
ol
T
LHOI3H WOSNWAL LHOI3H 3004 WM
IHOIFH NV &
NN ¥l £0

(2) ANCHORS
TYPE ‘A", ‘B" OR ‘C’
(3) TYPE ‘BB’

DOORS WITH TRANSOM
SEE SHEET 3.1 FOR TRANSOM (HORIZ. MULLION) DESIGN LOAD CAPACITY,

2
852
£280
2Ewdh
SYINYO0D 55 v
8AvC sanvr 03w 3_&
. —_— per— . i AEMB Mum
XV XYW .6 WSOY )4
/ey 17 AEES «'8
s N
/ )
e — R e P T —t
.l 1 ] 7 ) -
~ | / j i
N @ 1 | / L
. AN i ! I
2E o | _ I I ! 1T— -
26 -, 14 N\ NI I (! __\\ W ey B
S ﬂ D N~ (e o N TN /./.L_ __K > MPBD X
ﬂ w 1MW N i m==== __Hlﬂ IIIII _HII.V%%H_”_._.HHHHHHHMIHHHHH 5 N IF /
DE w32 N /! __ __ 1 < I ™
z ° . /! AN __ I e mla <9 O
- |2 T ] 1 I I P =
° (o) I N A T
® ©) i, @
N v
-~ ~Z L 1™
1 | 1 1 I [ 1 I | 1 I = —f 1 | 1 1 = |
" _ I N N (I _ | _ _ _ _ _ _ BN
_
T8 — S go
940 Td 940 7'd in
= L
LHOEH 4vA1 S
Ly
LHOI3H WOSNVYL 1H913H ¥ooa Su
L. 1HOIZH IV *

XYN L rrl




LEVEL ‘D’ & 'E’ IMPACT
SINGLE OR DOUBLE DOORS WITH TRANSOM SINGLE OR DOUBLE DOORS WITH TRANSOM SINGLE OR DOUBLE DOORS WITH TRANSOM
CAPACITY - PSF CAPACITY - PSF CAPACITY - PSF
WITHOUT WITH WITHOUT WITH WITHOUT WITH
REINF. REINF. REINF. REINF. REINF. REINF.
FRAME/TRANSOM | DOOR |TRANSOM| EXT.(+) EXT.(+) FRAME/TRANSOM | DOOR |TRANSOM| EXT.(+) EXT.(+) FRAME/TRANSOM | DOOR |TRANSOM| EXT.(+) EXT.(+)
WIDTH HEIGHT | HEIGHT INT.(-) INT.(=) WIDTH HEIGHT | HEIGHT INT.(—) INT.(-) WIDTH HEIGHT | HEIGHT INT.(-) INT.(=)
24" 78.3 100.0 24" 71.5 100.0 24" 64.7 100.0
37-3/4"75-1/2" 30" 72.2 100.0 37-3/4"| 75-1/2" 30" 66.2 100.0 37-3/4"| 75-1/2" 30" 60.2 95.1
X (xx) 36" 66.7 100.0 x) (xx) 36" 61.4 96.2 x) (xx) 36" 56.0 87.8
42" 817 95.7 42" 57.0 88.5 42" 52.3 811
48" 57.2 87.8 48" 53.0 81.4 24" 54.2 86.5
24" 65.7 100.0 24" 60.0 95.6 40-3/4"|81-1/2" 30" 502 | 798
40-3/4"|81-1/2" 30" 60.3 95.1 40-3/4"|81-1/2" 30" 55.2 87.2 ) X | 1020 | 36 46.5 72.6
) (Xx) 36" 55.4 86.4 (x) (Xx) 36" 51.0 79.6 42" 43.2 66.5
42" 50.9 78.6 42" 47.1 72.6 43-3/4"|87-1/2" 24" 45.9 73.2
80" 48" 46.9 71.4 90" 48" 435 66.3 ) (xx) 30" 423 | 668
24" 55.7 88.7 24" 50.8 80.9 46-3/4"193-1/2" 24 39.2 62.4
43-3/4"| 87-1/2" 30" 50.7 79.9 43-3/4"[87-1/2" 30" 46.5 73.2 (x) (Xx)
(x) (x%) 36 46.3 72.0 (x) (xx) 36" 42.7 66.3 24" 61.7 98.5
42" 424 | 648 42" 39.2 59.9 37-3/4"| 715-1/2" 30" 57.5 91.0
48" 38.8 58.3 24" 43.3 69.0 (x) (XX) 36" 53.7 84.1
24" 475 75.6 46&”)/ & 93&%2' 30" 395 61.9 108" M our 51.8 826
46-3/4"93-1/2" 30" 43.0 67.5 36" 35.9 55.4 40-3/4"181-1/2" 30" 48.0 75.8
(X) (XX) 36" 39.0 60.2 49-3/4"| 99-1/2" 24" 37.2 59.1 (X (XX) 36" 44.6 69.6
42" 35.4 53.6 (x) (Xx) 30" 33.6 52.5 43-3/4"|87-1/2" " 43.9 69.9
) . 24" 40.8 64.8 24" 67.9 100.0 X (xXx)
"9&”)/ 4 99&%2 30" 367 572 | |37-3/4"|75-1/2" 30" 63.0 99.7
36" 33.0 50.5 X (%x) 36" 58.6 91.8
24" 75.4 100.0 42 54.5 84.6
37-3/4"| 75-1/2" 30" 69.7 100.0 48" 50.8 78.0
(x) (XX) 36" 64.4 100.0 24" 57.0 80.9
42" 59.7 92.7 40-3/4"181-1/2" 30~ 52.6 83.1
48" 55.4 85.1 x) (X%) 36" 48.7 75.9 /® @ /@>
24 63.3 100.0 - 42" 45.0 69.5 ,
40-3/4"|81-1/2" 30" 58.1 91.8 48" 41.7 63.5 §) )] ()] Y
*) (*xx) 36" 53.5 83.5 i ] 24" 48.2 76.9 s N
42" 49.3 76.1 43’;‘/ 4 87‘;/ 2 30" 443 69.7
. 48" 45.5 69.3 ) @) 36" 40.7 63.2
B4 24" 53.6 85.4 46-3/4"| 93-1/2" 24" 41.2 65.5 TRANSOM WITHOUT REINF. TRANSOM WITH REINF.
43-3/4"| 87-1/2" 30" 49.0 77.1 X | X 30" 37.6 58.9
(X) (xXx) 36" 448 69.6 49-3/4"| 99-1/2" 24" 35.4 56.1
42" 41.0 62.8 x) (xx)
48" 37.6 56.6
24" 45.7 72.8
46-3/4"| 93-1/2" 30" 41.5 65.1
x) (xx) 36" 37.7 58.2
42" 343 51.9
24" 39.3 62.4
49-3/47| 99-1/2" 30" 35.4 55.2
x) (XX) -
36 31.9 48.8

NOTE:

GLASS CAPACITIES ON THIS SHEET ARE
BASED ON ASTM E1300-09 (3 SEC. GUSTS)
AND FLORIDA BUILDING COMMISSION
DECLARATORY STATEMENT DCAQ5-DEC-219

. <
. S
/ONAL BN

7, YON -
Tt

r/— 'S
>
\ U}ZJ
5
(1] 3
o o
— -
Z 3Rz
Or 832
- o 9=
Fd .8
<: =84
o Sgl=
Egoago
OLug eje
ow
¥ ok E
=]
QEap
OQRux
o020
OFEE™Q
Qoaogx
O%hiz 3
FEER
QUSE @
u_l"m_-o
rZoE @
-l 0«
zons o
Qiozs ¥
S
=
= s
I
[ (&) 8
80', <+
,lze @
w <= 0O o
(&) — 5]
Zlhm >~
& | e .
cElgs &
S|l > w
=z
@ || W
=D >0 -~
Z|Z - <
.___Nrr)l
o M~y
8= . .0
=2 =4
= || - 'LLG
zéz 3
L -
£>O<_j
U_)l.l.lln —
w___J
)
T ™
c
o
L
o
—_
[8]
[2d
[
o
>
5
”
cl|l®
9o
Lo
>
ollo
-..:J\C S
 ——

<4
g
=
-y
o
°

———— — — )
—————————
drawing no.

W17-43

(sheet 3.10f 10)

Sealed: 0772872017




LOCK OPTIONS: LEVEL ‘D’ IMPACT

STD. 3 POINT LOCK (LEVEL 'D' IMPACT ONLY)
MAX. FRAME HEIGHT = 120 IN.

MAX. LEAF WIDTH = 48 IN.

MAX. DESIGN LOAD = 100 PSF

ACTIVE LEAF:

3 POINT LOCK SYSTEM BY 'INTERLOCK' AT 39"
FROM BOTTOM

HANDLE ACTIVATES DEAD BOLT AND SHOOT BOLTS
ENGAGING AT HEAD AND SILL

KEY OPERATED ON EXTERIOR AND THUMB TURN ON
INTERIOR

FASTENED TO ACTIVE LEAF LOCK STILE WITH

(2) #8-32 X 2" OH MS

INACTIVE LEAF:

2 POINT LOCK SYSTEM BY 'INTERLOCK' AT 39"
FROM BOTTOM

HANDLE ACTIVATES SHOOT BOLTS ENGAGING AT
HEAD AND SILL

FASTENED TO INACTIVE LEAF LOCK STILE WITH
(2) #8-32 X 2" OH MS

i /NN
7 / H AN
/ | / Il N\

/ ? 2 |1 PN
- ! - 2 N\
7 | »- if1 Z

7 I
\ _é AN _ﬁ& /
N\ N\ /
AN ! N\ i /
N N 7
acve || mactve \J| | |1/ acTive
hifd

STD. 3 POINT LOCK (LEVEL ‘D’ IMPACT ONLY)

MAX. FRAME HEIGHT = 120 IN.
MAX. LEAF WIDTH = 48 IN.
MAX. DESIGN LOAD = 100 PSF
ACTIVE LEAF:

THREE POINT LOCK SYSTEM SERIES 2222 BY
'REGENT HARDWARE’

KEY OPERATED FROM EXTERIOR AND THUMB TURN
ON INTERIOR WITH CONCEALED FLUSH BOLTS

AT TOP & BOTTOM OF LOCK STILE

LOCATED AT 34" FROM BOTTOM OF LEAF

INACTIVE LEAF:

MANUALLY OPERATED TWO POINT LOCK SYSTEM BY
'REGENT HARDWARE' WITH CONCEALED FLUSH BOLTS
AT TOP & BOTTOM OF LOCK STILE

FASTENED WITH

(2) #8-32 X 1/4" PH MACHINE SCREWS

il
/1 /1N
7 7N
/ I / il AN
/ : /"’/. H /}\
- [ /7 I 7\
L | . {1 4
| |
AN _ﬁ N _Hﬁk /
AN AN /
NI N 2
N AN 1 11 (R
AcTvE \[| macve \| I/ actve
hTd

STD. 3 POINT LOCK (LEVEL 'D’ IMPACT ONLY)

MAX. FRAME HEIGHT = 120 IN.
MAX. LEAF WIDTH = 48 IN.
MAX. DESIGN LOAD = 100 PSF
ACTIVE LEAF;

KEY OPERATED THREE POINT LOCK SYSTEM BY
'ADAMS RITE’ WITH CONCEALED FLUSH BOLTS AT TOP &
BOTTOM OF LOCK STILE AND A THUMB TURN ON THE
INTERIOR, LOCATED AT 40" FROM BOTTOM OF PANEL
FASTENED WITH

(2) #12-24 X 1/2" FH MACHINE SCREWS

INACTIVE LEAF:

MANUALLY OPERATED TWO POINT LOCK SYSTEM BY
'ADAMS RITE' WITH CONCEALED FLUSH BOLTS AT TOP &
BOTTOM OF LOCK STILE

FASTENED WITH

(2) #8-32 X 1/4" PH MACHINE SCREWS

pii8
/i I
7 2 S
/ ! / f N\
/ o 2\
/g | 25 2 1| N
s
2 I || .
N\ ﬁ AN '& /
N N /
N A L
N Nt 7
acve \[| mactve \J| It/ acve
h1ld

PANIC EXIT DEVICE (LEVEL ‘D’ IMPACT ONLY)
MAX. FRAME HEIGHT = 98 IN.

MAX. LEAF WIDTH = 48 IN.

MAX. DESIGN LOAD = 75 PSF

ACTIVE & INACTIVE LEAF:

CONCEALED VERTICAL ROD PANIC EXIT DEVICE # 5770 BY

‘REGENT HARDWARE' LOCATED AT 40"
FROM SILL AT EACH LEAF.
FASTENED WITH

(1) #10 X 3/8" FH SELF DRILLING SCREW AT ONE END AND
(2) #10 X 1/2" FH SELF DRILLING SCREWS AT OTHER END

/I AN
/| 2 1N
/ : / : : AN
/ | V72 111 BN
N 2 B
IS f p
N N 4
e i
AN | N\ il /
N N[
acmve \[} acive \ |11/ acve

PANIC EXIT DEVICE
MAX. FRAME HEIGHT = 120 IN.
MAX. LEAF WIDTH = 48 IN.

MAX. DESIGN LOAD = 100 PSF

ACTIVE & INACTIVE LEAF:

'ADAMS RITE' LOCATED AT 40" FROM SILL
AT EACH LEAF,
FASTENED WITH

(LEVEL 'D" IMPACT ONLY)

CONCEALED VERTICAL ROD PANIC EXIT DEVICE # GB86 BY

(2) #10-32 X 3/4” FH MACHINE SCREWS AT ONE END AND
(2) #10-24 X 1/2" FH MACHINE SCREWS AT OTHER END

Al i
yalt N
/| 2R HH RN
7 B 11 I
/ ! /. i /;\
70 7 7
B it
\ _____ llé __________
Pl s
N A 11
N N bl 7
acve \[| nacive N 1|11/ acve
H] A

PANIC EXIT DEVICE (LEVEL 'D' IMPACT ONLY)
MAX. FRAME HEIGHT = 120 IN.

MAX. LEAF WIDTH = 48 IN.

MAX. DESIGN LOAD = 100 PSF

ACTIVE & INACTIVE LEAF:

CONCEALED VERTICAL ROD PANIC EXIT DEVICE PRECISION 2800
BY 'STANLEY' LOCATED AT 40" FROM SILL

AT EACH LEAF.

FASTENED WITH

(2) #10-32 X 3/4" FH MACHINE SCREWS AT ONE END AND
(2) #10-24 X 1/2" FH MACHINE SCREWS AT OTHER END

. 0
/1 ZITHN
7 2 I A
7 N H 11
/ i /. 1 2\
200 D 2% il N
{// | 11 >1
[ |
N TN alall
gesc===0|  ||q=<===qliE===75F
N A 11—
N N/
acve \[| inactve \[ 1|11/ active
H| b

FRAME HEIGHTS DOES INCLUDE
OPTIONAL TRANSOM

PANIC DEVICE GUARD

(5) 1" DIA, ROUND ALUM BARS
SPACED 1" APART

SCREWED TO A 3/8” THICK FLAT BAR
FASTENED TO DOOR LEAF WITH

(4) 1/4-20 X 3/4" SMS

GUARD TO BE INSTALLED OVER PANIC DEVICE
DURING PERIODS Of HURRICANE WARNING.

7/ ®'. N
FL #20701 500NAL B

o, \
ST

f
C

COMP—ANL\W17—43ENV )

(CA.N. 3538)

FAX. (305) 262-6978

AL-FAROOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT
9360 SUNSET DRIVE, SUITE 220

MIAMI, FLORIDA 33173

TEL. (305) 264-8100

5100 N.W. 72 AVENUE BLDG. C

MIAMI, FL. 33166
TEL. (305) 752-4411

ENVIRALUM INDUSTRIES INC.

[ SERIES ENV-350 INSWING ENTRANCE DOOR (LM..) |

|

L

(

|

FAX. (305) 406-3877

)

by [ description

(revisions:
(ho] date

A

scale: 3/8" = 1"
dr. by: TARIQ

drawing

|

chk. by:

 — |

no.

W17-43

sheet 4 of 10

Sealed: 07/28/2017




LOCK OPTIONS: LEVEL ‘E’ IMPACT

STD. 3 POINT LOCK (LEVEL °‘E' IMPACT)
MAX. FRAME HEIGHT = 98 IN.
MAX. LEAF WIDTH = 48 IN.

MAX. DESIGN LOAD = 100 PSF

ACTIVE LEAF;

THREE POINT LOCK SYSTEM SERIES 2222 BY
"REGENT HARDWARE'

KEY OPERATED FROM EXTERIOR AND THUMB TURN
ON INTERIOR WITH CONCEALED FLUSH BOLTS

AT TOP & BOTTOM OF LOCK STILE

LOCATED AT 40" FROM BOTTOM OF LEAF

INA F:

MANUALLY OPERATED TWO POINT LOCK SYSTEM BY
"REGENT HARDWARE' WITH CONCEALED FLUSH BOLTS
AT TOP & BOTTOM OF LOCK STILE

FASTENED WITH

(2) #8-32 X 1/4" PH MACHINE SCREWS

A
/i 1IN
/ : / H AN
/ | / i1 N\

/ : /g H A
) I /% | Z N
7\ 7

” | i1 >‘
AN N /
\ f \ ﬁ& /
AN ! AN H /
AN Nl
acve \[| mactve \| I/ actve
114

STD. 3 POINT LOCK (LEVEL ‘E’' IMPACT)
MAX. FRAME HEIGHT = 98 IN.
MAX. LEAF WIDTH = 48 IN.

MAX. DESIGN LOAD = 100 PSF

ACTIVE LEAF:

KEY OPERATED THREE POINT LOCK SYSTEM BY

"ADAMS RITE' WITH CONCEALED FLUSH BOLTS AT TOP &
BOTTOM OF LOCK STILE AND A THUMB TURN ON THE
INTERIOR, LOCATED AT 40" FROM BOTTOM OF PANEL
FASTENED WITH

(2) #12—24 X 1/2" FH MACHINE SCREWS

INACTIVE LEAF:

MANUALLY OPERATED TWO POINT LOCK SYSTEM BY
'ADAMS RITE’ WITH CONCEALED FLUSH BOLTS AT TOP &
BOTTOM OF LOCK STILE

FASTENED WITH

(2) #8-32 X 1/4" PH MACHINE SCREWS

i
/1 Z1IHN
/! / \
/ | / AN
/ | /. 2\
/ | /7 Z N\
|
|

s
e
-d:l—
VZ
v
— e ————
=== @R=—s—========
AN
~N

PANIC EXIT DEVICE (LEVEL 'E’ IMPACT)
MAX. FRAME HEIGHT = 98 IN.
MAX. LEAF WIDTH = 48 IN.

MAX. DESIGN LOAD = 100 PSF

ACTIVE & INACTIVE LEAF:

CONCEALED VERTICAL ROD PANIC EXIT DEVICE PRECISION 2800

BY 'STANLEY' LOCATED AT 40" FROM SILL
AT EACH LEAF.
FASTENED WITH

(2) #10-32 X 3/4” FH MACHINE SCREWS AT ONE END AND
(2) #10-24 X 1/2" FH MACHINE SCREWS AT OTHER END

Al FHEN '

/| V2R LI

| N 11

/7 | VP72 111 BN
A 77 il Z N

7% | ‘ 11 ’

O | i
N ) N I - 4
u\_"_jﬁ \__"“1?61"___7

N AN 11 4

N N I

acve \[ mactve N[/ actve
Y A

— =7
ku &
ia
M
(1] 3
ok A
—~ =
Z SRz
Sy 5§32
b= w 2 O
<8 332
mOoS_gO
omy g|°
Loy %
ok u
06ap
ogug
QRENS
< 8
Qaogd
it
mngﬂ
QuUoL g
Tl =
|EOEQ
2282
Lozl
./
. _— )
Ar_ A
= N
=
= 0
= 7
o O o
Sl.s . %
a9 ¢ —
49 8§
M
zlp® =
Wy %
Sleos
= =
O L
ZID>0 ~
=l <O ~
(V2] e
ZZNm"‘
o ~NE
DI=ZE ..
|2 =4
>ld sl >
= =z n
wJ . 2
28
nlls =~
L2 O0F
Elas=E
giw o ~
- —— _—— 3
=
c
o
(o
o
[,
[&]
0w
[}
o
>
)
iy
Ol[6
0o
'S
olfo
e
(__
=
=l e
F o
5| 5|2
sl @ || B
-2 118 || ¢
o (2] bl
]
.
drawing no.
- S

sheet;,1_of 1 0




[ ANTEY—LLM\INV—dWOD

)

1HOIZH ¥O0d

EDGE DIST.

£L8€-90% (SO€) 'Xv4  LLyy—2SL (S0g) AL s M ||©
U 8169-Z9Z (SOE) "Xv4 00T8+9T (S0€) 3L 991¢¢ 14 “INVIW c <t 5
J T G el || 0 918 NG oL W 00 2l o
AININJOT3AIA LONAOHd 2 SHIINIONT ONI S3I4LSNANI WNTVAIANG Uonduossp kg 15105 Tou z — K
L 2 | NOILYHOJdHO0D DOoHVH-IV [(TWT) 000 3ONVHINI INIMSNI 0SE-AN3 &EL C : Sucismel) || L4Tth-Y0 sepop 5 =<
N
o
A\
(o0]
N
N
o
i)
O
©
[0}
@]
y—
o
o~
o
AV
=
—
=
.28
ZoE
-
w2l
NTW
OwkFa
p \ @
e Om
v - WDG
v — 1 . ZEZ
— . <= Q
e IR 1 Y -
= = & | 1" sun
/ ——=+TH 5 e
e t =
e} =
2]
RN .
\\\ v_.u\,.v R m
©) g8
w
. Q
© 5 2 o8
<C _ﬂlu a
@ §
— ey | v < LA |
88
Z@ig
-
W _
NID IHOEH 3vaT as
30vdS WIHS e m.am )
XYW L8/€ ___ o FsE g
|
_ __ © ) LEE &
17 R \ nH—ao —
RS a __ L (7] %
o= o ,, a Om
52¢ & 1i—— g8 8¢
35 @ \ I | v e -y S e T S zZkZ
LWM 5 1| = N _ b . LWM
L | 5 xﬁ o, @Hluf e/ o5+ T . 850
ax . 8. A== B | e N I A TH————- +rH1 . awx
W“SF 0 ) | Il e e e e e | | N > Wﬁm
_ K L L) A e i A | L1 ﬁ "
: 10 2
-
2]
a
L
[&]
a
uw
JOIIHLXH




1BY WOOD BUCK

EDGE DIST- (SEE NOTE SHEET 1)

- .4.' .- e il
- 3000 PSF€oNG...|!

h

EXT
H—
3/8" MAX.
SHIM SPACE

WOOD BUCKS AND METAL STRUCTURE NOT BY ENVIRALUM
MUST SUSTAIN LOADS IMPOSED BY GLAZING SYSTEM

TYPICAL ANCHORS
AND TRANSFER THEM TO THE BUILDING STRUCTURE. SEE ELEVATIONS

FOR SPACING

TYPICAL ANCHORS: SEE ELEV. FOR SPACING

— 5/16" DIA ULTRACON BY 'ELCO’ (Fu=177 KSI, Fy=155 KSI)
' INTO WOOD STRUCTURES
2" MIN. PENETRATION INTO WOOD (HEAD/SILL/JAMBS)

| THRU 1BY OR 2BY BUCKS INTO CONC. OR MASONRY
1—3/4" MIN. EMBED INTO CONCRETE (HEAD/SILL/JAMBS)

1—-3/4" MIN. EMBED INTO FILLED BLOCKS (JAMBS)

‘ DIRECTLY INTO MASONRY
1-3/4" MIN. EMBED INTO FILLED BLOCKS (JAMBS)

ANCHOR EDGE DISTANCES

| INTO CONCRETE AND MASONRY = 2-1/2" MIN.
INTO WOOD STRUCTURE = 1-—1/4" MIN.

ANCHOR CL TO CL_DISTANCE
| INTO CONCRETE = 3" MIN.
INTO FILLED BLOCKS = 4" MIN.

- 5/16" DIA ULTRACON BY 'ELCO" (Fu=177 KSl, Fy=155 KSI)
. DIRECTLY INTO CONCRETE
| 1-3/4" MIN. EMBED INTO CONCRETE (HEAD/SILL/JAMBS)

L
@ o
a ®
EDGE DIST. & 9 K
* o (ff‘\ (o]
WE ®
nLo Q
) zZz \m?ngg\
~NO 6

3/8" MAX.
SHIM SPACE

EXT.

TYPICAL ANCHORS
SEE ELEVATIONS
FOR SPACING

TYPICAL ANCHORS
SEE ELEVATIONS —

FOR SPACING
~ METAL
EDGE STRUCTURE
DIST.
Lailn bl L . .- s | IH 5
4 (4]
% )
| <
. 25
—
> ©|=

" TYPE 'BB'-5/16" DIA ULTRACON BY 'ELCO’ (Fu=177 KSI, Fy=155 KsSI)
| DIRECTLY INTO GROUT FILLED BLOCKS
1-3/4" MIN. EMBED INTO FILLED BLOCKS (JAMBS)
| ANCHOR EDGE DISTANCES
- INTO CONCRETE = 2-3/16" MIN.
I ANCHOR CL TO CL DISTANCE
: INTO CONCRETE = 3" MIN.
L INTO FILLED BLOCKS = 5" MIN.
e
'TYPE ‘C'— 5/16" DIA, TEKS OR SELF DRILLING SCREWS (GRADE 5 CRS)
| INTO MIAMI—DADE COUNTY APPROVED MULLIONS
OR
INTO METAL STRUCTURES &
| (3) THREADS MIN. PENETRATION BEYOND METAL SUBSTRATE N
: ALUMINUM: 1/8” THK. MIN. (6063—T5 MIN.) Mfw‘;:]?vgm
| STEEL: 1/8" THK. MIN. (Fy = 36 KSI MIN.) e ] . .B%F*:-r-«.n
. R & e e Ll - 7 T
(STEEL IN CONTACT WITH ALUMINUM TO BE PLATED OR PAINTED) . T30 PSTCONG  Ce LN v é | \ e Q
| ANCHOR EDGE_DISTANCES A o TYPICAL ANCHORS /-,/ ' 9 '\\\ 1/2" MIN.
) . " SEE ELEVATIONS — —THROW BOLT
L INTO METAL STRUCTURE = 1/2" MIN. ‘ FOR SPACING PENETRATION
WOOD AT HEAD, SILL OR JAMBS SG = 0.55 MIN. . EDGE_DIST.
CONCRETE AT HEAD, SILL OR JAMBS f'c = 3000 PSI MIN.
C—90 GROUT FILLED BLOCK AT JAMBS f'm = 2000 PSI| MIN. ADA COMPLIANT THRESHOLD FL #20701

~

f
€

{a
COMP—ANL\W17—43ENV |

(C.A.N. 3538)

FAX. (305) 262-6978

AL-FAROOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT
9360 SUNSET DRIVE, SUITE 220

MIAMI, FLORIDA 33173

TEL. (305) 264-8100

(

|

FAX. (305) 406-3877

5100 N.W. 72 AVENUE BLDG. C

MIAMI, FL. 33166

ENVIRALUM INDUSTRIES INC.
TEL. (305) 752—4411

[SERIES ENV-350 INSWING ENTRANCE DOOR (L.M.I

|

)

by [description

(revisions:
(nol date

|

04=-11=-17
scale: 3/8" = 1"

<4
<
=
EY
o
IS
]

drawing no.

(W17—43
sheet 5.10f 10

Sealed: 07728120717




[ WYz
Z
Y ¥ ||
© n— v
LEAF WIDTH ALT. JAMB ——
3/8" MAX. oz
o el WX 3/8" MAX. 4 ) g =
] SHIM LOCK OPTIONS 1 sam OQr 3532
3/87 MAX. D.LO. LOCK OPTIONS SEE SHEET 4 RS ': Z “a=
SHIM SEE SHEET 4 / e <s = &4
oo N
METAL : Y o BUCK : — | - TyricaL ancrors || & G o € 8[5
STRUCTURE /[« WOOD BU '~ SEE ELEV. Owq ¢
S .| FOR SPACING Low %
N ¢ TYPICAL ANCHORS L - wgok &
: SEE ELEV. o, 5
TYPICAL ANCHORS POR SPACING . Obap
SEE ELEV. > O2ud
FOR SPACING\ - § 0828 o
1 '4- [+ 4 [=]
.- m— e 2 ggégi
. ™ i - r
7 . . EL229
e 7 7 QUL
W = 9 I'|L 205 8
o L w -0
(1Y) ) G} ZM= -l
e ” 8 a LGons ¥ g
S ae——
£ N
— — — =
3 3
EXTERIOR =l o 8
o s . hd
FRAME WIDTH Qe
wil=Za 8
e m 2
(n S’
2w,
=gy &
[
o|v
ZID>w ~
|2 ¢Cg
" = N
, _LEAF WIDTH . 3/87 MAX. ) e NI
() SHIM Bl= . 8
3/8" MAX. D.L.O. (13) AEEEE
SHIM < ACTIVE LEAF INACTIVE LEAF uéogﬁ
_ 28Y WOOD BU % S 9%
e e J ol R
.. - 00D STRUGIURE LIl o= F
S Oyt —
TYPICAL ANCHORS -4 . MY )
SEE ELEV.—" . - T A
FOR SPACING \ . =
s\
. - T \LOCK OPTIONS ) i - c
| SEE SHEET 4 7 S
7 e i
" REINFORCING REQD : 5
w .
o @ FOR DOORS “ S
w ABOVE 8 FT. HIGH ONLY ~
Fa]
TYPICAL ANCHORS ||..
SEE ELEV. 2l
— — — FOR SPACING I} E
EXTERIOR ‘S
de J
[
_____DOOR WIDTH A — =
~ || -
il o
-— x E
5] =
. o)
s|[2( 25
33 EB kD
| O —
drawing no.
W17—-43

]\DOOR DETAILS

FL #20701

Sealed: 07//28/2017




FRAME HEIGHT

—
Oz
EDGE DIST. TYPICAL ANCHORS " 2
—SEE ELEVATIONS m ?
| FOR SPACING \_ 1
RSN o S E
OIS R | g 351
N © A . CL A . R 2 E ® ‘9 -2]
&b b A= S| N : & 4 oNll<
— e =y off
P—— <z S9e
oo 2|3
w ] Q‘\,g O
' 219 Owq ¢
= o [T %
(@) 2 o FoE o
— 2z QEap
™\ 02,5
0 {[ ou¥a
1k a Em o
Al QEEsS
i O %Lz §
— J:I |:| m b4 ZS 2
5 dil [ ok i
5 Y 2L @
: il L6728
= J ¥ zZos g
ol o Iy Lozt
2 | =
2 il 1 o~
I 1/4" X 1/2" X 4 7/32" = N
Ll ALUM BAR 3 ®
o ATTACHED TO VERTCAL FRAMES = ,
il (14) WITH (2) #12 S.S. SMS sl .¢ 8
b | 1 = REQD. FOR LOADS Sl . ¥
™~ ABOVE 58 PSF ONLY HEEEEY
L || =
'ﬂm_r‘ 3/8" MAX, S J 8
M {4!( REINFORCING AS REQD. sHM | [T g < E =
(§S\—— IS __—SEE SHEET 3 o Zlzs &
f FOR CAPACITY ol Z
U[T r r Q - - ] § D >0
Y vo1/47 I R2 3
Loy A 3= o
e —— - ’ 24 .. ®
T T T T — i = 1 o0 E; Ef -
| 12 | = 5; - - )
A - : S o28
- J—F — ) e o OE n
Pl : IS0z |
R ‘ AR
L 11 g TYPICAL ANCHORS B ge=F
SEE ELEV. - : —— >
FOR SPACING “ = 3
'_
z EXTERIOR
£ D.L.O
b [ SN c
l w g
} S g
5 - TRANSOM FRAME WIDTH £
I 2
B o o
it = B
ﬂoi \ i = 1
2 glle
& Bllo
M 21©o
H § o)
> S U= J
VT 775 S—
&3] \\\//_;\I
\

!
% A M4 ////

04-11-17

<4
g
=~
¥y
u
©

d&e:

. .« 1
drawing no.

W17—-43
(sheet 7 of 10)

TRANSOM DETAILS

Sealed: 07/28/2017




2.454

[=—2.000—=

MID—RAIL

15

675

ADA THRESHOLD RAMP

798 =—

4,500 f=— 2.000 —= —{,750 =
125 T —={1.000 == > 1.689 —
(L) Yy Vovsa um—
1.750 ®
094 == 3.550 =125 —Me 187
4,550 (]
4,500 4.195
@ FRAME HEAD r 1
Iw”SO_D ——ollc—.ms — ézm—
i 1.954 —« @ @
187 ] @ TOP RAIL ALT. FRAME JAMB | STEEL CHANNEL REINF. |GUIDE CHANNEL FOR TOP & BOTTOM PIN
1.954 —= 1.954 —=
1.340 |=—
=125 [--125 "‘
4.500 - [ —= 1,402 'ﬁ%‘—}&"
25— % } r )
T [ | g
e — i ?
| 1530 .18 1892 | THRESHOLD/DOOR STOP COVER
094 —={|=— —==—.125 L 4&
. 1.507
@ FRAME JAMB - 1.527 — _ i
—=l=—.062
308 8.000 L o @ 1.464 1.765
_D1 r. =3 = 7000 E j )
] ' 10800 SHEAR BLOCK i
9.000
Al 062 C ] I | 250 == ALT. THRESHOLD COVER ot5a
3.951 7 .
.624 N 694
» . 3.500 062
o—2.000 —=
@ I:—‘J fo——2.353
BOTTOM RAIL 125
FLAT FILLER
'L L @ THRESHOLD RAMP
- 3.380 ? J }
fo— 2.000 —= 1.250 =
1.556 ; INI_ 8.364
{ |° ] i I
645 ﬁ?ﬁi{% 560 2.000 1.954 @ ALT. BOTTOM RAIL TRANSOM SASH 605
T os0d || 128 wl {814 1.532 ?
3.913 L 7 ? o BV “’ .12:‘ = 8.483
4.550 1.224 1.099 SJ]L—72 i{ﬂ e
(") ©) HINGE STILE by A 1 : '
THRESHOLD ) ¥
— 3.550
7 GLASS STOP (LAM. GLASS) @ DOOR STOP
1.556 <
¢ J 1.954 2.000 —>| r
645 544 ) g
L 125 1.112 .062 1.000 1
080 i —es—lun i E.J : sacl 1.687
6.329 ; I B 187

(CA.N. 3538)
COMP—ANL\W17—43ENV |

FAX. (305) 262-6978

AL-FAROOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT
9360 SUNSET DRIVE, SUITE 220

MIAMI, FLORIDA 33173

TEL. (305) 264-8100

(

|

-3877 ‘

FAX. (305) 406

5100 N.W. 72 AVENUE BLDG. C

MIAMI, FL. 33166
TEL. (305) 752-4411

[ SERIES ENV-350 INSWING ENTRANCE DOOR (LM..)]
ENVIRALUM INDUSTRIES INC.

|:
~
1
|
J

)

by [ description

(revisions:
(no| date

{

date: 04-11-17 1

*
—
]
©
N
M

P
[~}
Q
@

4

drawing no.

4.550 ‘ _
9 ® BBy |(W17-43
@ ALT. THRESHOLD ® LOCK STILE GLASS STOP (INSUL. LAM. GLASS)| STILE REINFORCEMENT FL #R20701 ;Y05 (sheet 8 of 10)

Sealed: 07/28/2017




-
HINGE OPTION #1: ITEM NO.| PART NUMBER QUANTITY DESCRIPTION MATERIAL | MANF./SUPPLIER/REMARKS [ lI-U L%
4" X 4-1/2" X 130" THK. ST. STEEL KNUCKLE HINGE ! ENV—351 1/ LEAF e 6063 -T6 _ ENVIRALLM (] 3
SERIES 4001 BY 'REGENT HARDWARE' OR 2 ENV-352 1/ LEAF BOTTOM RAIL 6063—-T6 ENVIRALUM B — ~
SERIES FBB 191 BY ‘STANLEY SECURITY SOLUTIONS' OR 2.1 ENV-3521 1/ LEAF ALT. BOTTOM RAIL (10" HIGH) 6063—T6 _ENVIRALUM 4 :'9; p 5
SERIES TA2314/TA2714 BY 'MCKINNEY ASSA ABLOY’ 3 ENV-353 1/ LEAF HINGE STILE 6063-T6 | ENVIRALUM O 3 § 2
3 PER LEAF 4 ENV—354 1/ LEAF | Lock sTILE ) 6063—T6 | ENVIRALUM "<' g =g
TOP/BOTTOM HINGES AT 7" FROM EACH END 5 ENV-355 2/ DOOR FRAME JAMB B B 6063~T6 ENVIRALUM o %o N g3
CENTER HINGE AT MIDSPAN 5A - 2/ DOOR ALT. FRAME JAMB 6063~T6 | ENVIRALUM O g\' gle
FASTENED TO i 6 ENV-356 1/ DOOR FRAME HEAD 6063-T6 | ENVIRALUM & EE 2
Eg’g‘:f SJTII\I?EB WV;ITILH (ES) 1122__2244 XX 11//2 2 FLH M"';S 7 ENV—357 4/ LITE GLASS STOP (INSULATED GLASS) 6063-T6 | ENVIRALUM 053
8 ENV—358 4/ UTE GLASS STOP (LAMINATED GLASS) B063-T6 | ENVIRALUM O2uy
9 ENV-359 AS REQD. | ADA THRESHOLD RAMP 6063-T6 | ENVIRALUM (= % E o g
9.1 ENV—3520 AS REQD. | ADA THRESHOLD RAMP 6063-T6 | ENVIRALUM 0 ;“3 §
10 ENV—3510 AS REQD. | THRESHOLD/DOOR STOP COVER R 6063-T6 | ENVIRALUM g @ EE g
10.1 ENV—3518 AS REQD. ALT. THRESHOLD COVER (HI-RISE) 6063-T6 | ENVIRALUM T ELE
11 ENV—3511 1/ DOOR THRESHOLD 6063-T6 | ENVIRALUM bLz'58
" EXTERIOR 11.1 ENV—3519 1/ DOOR ALT. THRESHOLD 6063-T6 | ENVIRALUM R a' % §§ F—"
12 ENV—3512 3/ DOOR DOOR STOP 6063-T6 | ENVIRALUM L
13 ENV-3513 AS REQD. STILE REINFORCEMENT, REQD. FOR DOORS ABOVE 8 fT. HIGH 6063—-T6 | ENVIRALUM :;)
14 ENV-3515 4/ TRANSOM TRANSOM SASH | 6063-T6 | ENVIRALUM = N
15 ENV—ST2 AS REQD. 1" X 4-1/8" X 1" X 3/16" THK. CHANNEL STEEL ENVIRALUM = 0
16 ENV—3516 1/ LEAF CORNER | SHEAR BLOCK 6063-T6 | ENVIRALUM sl .° S
7 ENV—GCO1 2/ LEAF GUIDE CHANNEL FOR TOP & BOTTOM PIN 6063-T6 | ENVIRALUM I8 g =
18 ENV—454 AS REQD. FLAT SNAP, 3" LONG 6063-T6 | ENVIRALUM el E2 B
HINGE OPTION #2: 19 ENV—3514 AS REQD. MID—RAIL (OPTIONAL) 6063-T5 | ENVIRALUM & @ W%
CONTINUOUS GEAR ALUMINUM HINGE PEMKO-FS & SELECT SL-21 21 ENV—-GO4 AS REQD. | INTERIOR GASKET B EPDM GLAZING RUBBER PRODUCTS & ,E % L
FASTENED TO 22 ENV—G06 AS REQD. SPACER GASKET EPDM GLAZING RUBBER PRODUCTS 2184,
FRAME JAMB WITH #12 X 3/4" FH SCREWS AT 6" 0.C. ) 22A ENV—GO6 1/ QUARTER POINT | SPACER GASKET, 1" LONG EPDM | GLAZING RUBBER PRODUCTS z 2 <o z
DOOR STILE WITH 1/4-20 X 1-1/4" FH MS WITH SEX BOLT AT 6" O.C. 23 ENV—SBO1 1/ QUARTER POINT | 3/8” X 1/2" X 2" SETTING BLOCKS, DUROMETER 80+5 EPDM GLAZING RUBBER PRODUCTS ST R3 z
24 ENV—SB02 1/ QUARTER POINT | 3/8” X 1—1/4" X 2" SETTING BLOCKS, DUROMETER BO+5 EPDM GLAZING RUBBER PRODUCTS 5’? = =R
25 DOW 791 AS REQD. GLAZING COMPOUND SILICONE | DOW CORNING NI EESE
26 | GE SCS2000 AS REQD. GLAZING COMPOUND SILICONE | GE MOMENTIVE - ; g 83’ B2
27 | #12 x 1-1/2 4/ CORNER | FRAME ASSEMBLY SCREWS ST. STEEL | HWH SMS, AT 16" O.C. =2 B% d
28 #8 X 5/8" AS REQD. TRANSOM SASH SCREWS ST. STEEL | AT 3" FROM ENDS & 12" 0.C. | |[L<)
N 29 #8 X 5/8" AS REQD. DOOR STOP ASSEMBLY SCREWS, @ 3" FROM ENDS & 20" O.C.| ST. STEEL | HWH SMS SE————
EXTERIOR 30 ENV—BP1 2/ HINGE HINGE BACKING PLATE, 1—1/2" X 1/4" THK. X B—3/8" LONG | ALUMINUM | -
31 - AS REQD. 4-1/2" X 4" BUTT HINGES ST. STEEL | -
32 sL-21 1/ LEAF CONT. GEAR HINGE ALUMINUM | SELECT PRODUCTS LTD.
32A PEMKO—FS 1/ LEAF CONT. GEAR HINGE ALUMINUM | PEMKO c
33 1/4-20 X 1" 10/ LEAF CORNER BLOCK ASSEMBLY ST. STEEL | HEX HEAD BOLT W/ WASHER 12
34 ENV—GO1 AS REQD. | FIXED INTERIOR GASKET - EPDM GLAZING RUBBER PRODUCTS g
37 ENV-WP1 AS REQD. WOOL PILE W'STRIPPING TRILOBAL YARN | ULTRAFAB 2
HINGE OPTION #3: 38 ENV-WP2 AS REQD. WOOL PILE W'STRIPPING B | TRILOBAL YARN | ULTRAFAB :
CONTINUOUS ALUMINUM ROTTON HINGE ‘PEMKO—FM’ OR ‘SELECT SL 27’ 39 ENV—BG1 AS REQD. BULB W'STRIPPING, (.475 BULB W/ FLAP X .270 BK.) EPDM ULTRAFAB e
FASTENED TO FRAME JAMB AND TO JAMB STILE WITH 2 @
(22) #12-24 X 1/2" FH MS SCREWS ol
) SEALANTS: HE
g ALL FRAME CORNERS, JOINTS, MULLION SEAMS AND PERIMETER OF N 1
i I\ GLAZING BEAD TO FRAME SEALED WITH SILICONE SEALANT. 'I:
& - [«}
] o3 g g .
|| 5|F
: EBEDE:
| drawing no.
W17—-43

sheet 9 of 10)

Sealed: 07/28/2017




(AN3EY—Z LM\ INV—dWOD

_\ Jw\.mo.«wwﬁmoﬂ.xﬁ
_ u (8ese ‘N'V2)

OOTS89Z (S0€) 131
ELTEE VAIHOTN ‘INVIIN

O 9078 3INNIAY 22 'M'N 001G

[ zz8e-90v (s0g) xv4

Livp—2SL (S0€) AL 4

991ee M4 “IAVIN

0ZZ 31INS ‘JAIYA 13ISNNS 09€6 .
h ININJOTIATIA LONAOUd @ SHIANIONI _ ONI_S3IILSNANI NNTIVAIANT | uonduosap [Aq | 210p [oU
L & NoILYHOJdH0D Doouvi-1v L (A1) 4000 3ONVAIN3 ONIMSNI 0SE-ANI SANMES || | SUGISIAG])

HH MS WITH WAHER

(2) 1/4-20 X 1"

FH MS

(2) #10 X 3/4

FH MS

(2) #10 X 3/4"_/

DOOR LEAF TOP CORNER

DOOR FRAME TOP CORNER

TRANSOM CORNER

HH MS WITH WAHER

(3) 1/4-20 X 1"

(2) #10 X 3/4"
FH MS

(2) #10 X 3/4"

FL #20701

DOOR FRAME BOTTOM CORNER

DOOR LEAF BOTTOM CORNER

Sealed: 07/28/2017






